

ENGR 361

Aturamu Adesola Emmanuel

15ENGR0241009

Elect / Elect

D) $y = e^{x^2+x}$
show that

$$y'' = y'(2x+1) + 2y \quad \text{and prove}$$
$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^{(n)}$$

$$y = e^{x^2+x}$$
$$y' = (2x+1)e^{x^2+x}$$

using product rule

$$u = 2x+1$$

$$du = 2$$

$$v = e^{x^2+x}$$

$$dv = (2x+1)e^{x^2+x}$$

$$y' = u \frac{dv}{dx} + v \frac{du}{dx}$$

$$= (2x+1)(2x+1)e^{x^2+x} + 2e^{x^2+x}$$

from eqn 1 & 2

$$y'' = y'(2x+1) + 2y$$

$$y^{(2)} = y^{(1)}(2x+1) + 2y$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2ny^{(n)} + 2y^{(n)}$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + (2n+2)y^{(n)}$$
$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^{(n)}$$

$$2) i) y = x^3 e^{4x}$$

$$u = e^{4x}$$

$$v = x^3$$

$$u = e^{4x}$$

$$v = x^3$$

$$u^5 = 1024 e^{4x}$$

$$v^{(1)} = 3x^2$$

$$u^4 = 256 e^{4x}$$

$$v^{(2)} = 6x$$

$$u^3 = 64 e^{4x}$$

$$v^{(3)} = 6$$

$$u^2 = 16 e^{4x}$$

$$v^{(4)} = 0$$

$$u^1 = 4 e^{4x}$$

$$v^{(5)} = 0$$

$$u = e^{4x}$$

$$y^{(5)} = 1024 e^{4x} \cdot x^3 + 1280 e^{4x} \cdot 3x^2 + 640 e^{4x} \cdot 6x + 160 e^{4x} \cdot 6 + 20 e^{4x} \cdot 0 + e^{4x} \cdot 0$$

$$y^{(5)} = x^3 1024 e^{4x} + 3x^2 1280 e^{4x} + 6x 640 e^{4x} + 960 e^{4x}$$

$$\text{ii) } x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$\text{show that } x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^{(n)} = 0$$

$$\underbrace{x^2 y''}_{w_1} + \underbrace{xy'}_{w_2} + \underbrace{y}_{w_3} = 0$$

$$w_1 = x^2 y^{(n+2)} + 2xny^{(n+1)} + \frac{2n(n-1)}{2!} y^{(n)}$$

$$= x^2 y^{(n+2)} + 2xny^{(n+1)} + n(n-1)y^{(n)}$$

$$w_2 = x y^{(n+1)} + n y^{(n)}$$

$$w_3 = y^{(n)}$$

$$= x^2 y^{(n+2)} + 2xny^{(n+1)} + n(n-1)y^{(n)} + x y^{(n+1)} + n y^{(n)} + y^{(n)} = 0$$

$$= x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + [n(n-1) + n + 1] y^{(n)} = 0$$

$$= x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + [n^2 - n + n + 1] y^{(n)} = 0$$

$$= x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + [n^2 + 1] y^{(n)} = 0$$